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1. % A(-35) * B(-13) * & B/ * A~ C 2l » H5AC =7BC » 3K C Bk & {a] ?
(A) LY (B) (4-2 ©) (-1-1 (D) (=31

2. 3% X B EW > KB f(X) =4—cosx—sin®x » £ f(X) BURRAAE M » K/ MiEES m o B :
(A) mEBEEEY (B) M L (C) 1<m<?2 (D) 6<M <7

3.3%0<0<rx > H2sn®=-3coto * Hlog=2

S5r Vs Vs 2
(A) r (B) 3 ©) > (D) 3

4. 3% k BEH H0<9<% s FHTTFER B + kx+2=02 "R sind ~ cosO > Hlk=?
(A) 245 (B) —2¢5 (©) 3J5 (D) -3/5

5. %Etanez—% » Hcos@ <0 > HI5sin®+4sectd Z(HE A ?

(A) 8 (B) 2 C) -2 (D) -8

6. AABC 1 > cosB:i—Alf » AB=3>BC=7"HlzA=7?

(A) 30° (B) 60° (C) 120° (D) 150°

7. 05| a|=2> |b|=3> A|2a-b|= /37 » Bl G5 /N i 2

(A) 120° (B) 90° (C) 60° (D) 30°
8.#%a=(71) > b=3Kk) > #a PR = ARERS < - Il k ZH S Tl ?
(A) 1 B) 2 € 3 (D) 4

9.2 AL-1) ° B(2-2) » EVIEES 2> H¥ 45 KK » Hlv=?
1 1 1 1
(A) (ﬁ,—ﬁ) (B) (—ﬁ,ﬁ) ©) (2,-2) (D) (—/2,4/2)

10. Ea - b BEE > FHi=v-1> HEXC+ax+b=0F— B -1+i > Ka-b=?
(A) -2 B) -1 ©) 0 (D) 2

10 B R HER f () BRU (x-2)(x+3) 28 E2x+3 » F f(0)=9 > K f(-)="?
(A) 7 (B) 9 (©) -5 (D) -7
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12, 2% x B EB 25X 4 218 R x4 = 2 {EE T ?
X

X3

(A) 2 (®) g © 3 (D) g

13. 5 X +3x—-2=0ZMRFHa ~ > HIlla® -2 p* -2 iRAVITREREA 2

(A) x*-9x-18=0 (B) x*-7x-16=0
(C) X*+9x-6=0 (D) X*+7x+6=0
a —a
14. 3% x BEW > FHFa>0Ha* =3 K =7?
a*+a”
11 10 8
A) = B) — C) 3 D) —
(A) 3 (B) 3 © (D) 3

15. % a=+3 » b=%/9 » c=4/8 - HIF5I{i& IEf#E ?
(A) c<a<b (B) b<a<c
(C) b<c<a (D) a<c<b

16. 3% x FRE L » SRTTHE log(x+1) +log(x - 2) = LT AR ZFIES 2
(A) 3 (B) -2 (C) 2 (D) 4

17. B4 A 58 > H21<logA<2.2 » Al A {78 ?
(A) 5 (B) 6 © 7 (D) 8

18. % —F 2B A5 15 TH S 16 » HAT 15 TEAIR 660 » HI LB (¢ 55 A TEBHIG B B ?
(A) 18 (B) 19 (C) 20 (D) 21

10, BHELAM D a =%+%+1+ ...... +729 5 HI n Z (BT 2
(A) 8 (B) 9 (C) 10 (D) 11

20. #7FH F A~ B~ C~ D UEHERZFITINER - EX1AB4) » B(-2,6) * C(—4,2) » HI D BiaAktER

SJREfs Mol 2
(A) (1038) (B) (-6-4) (© (60 (D) (-14.4)

21. 7% 0°< 0 <90° » %tanzezg » Hif(sin@ + cos@)? = ?

® ®) © 2 ) 2

22. B X FREHL » 3% f(X)=sin2x+ 2sinx+ 2cosx » Il f(x) B A EE A ?
(A) 22 (B) 2¢/2-1 (©) 24/2+1 (D) 23
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23, 2 =v=1 LS 2 Harhi v a b EER - Ka-b=?

1-i
(A) -3 (B) -2 ©) -1 (D) 0
. (3-4i)2(1-i)®
= — . /_ s H —
24, #Fi=~-1 - HIl LB 6) ?
(A) 5 (B) 10 (©) 2 (D) 2

25 2%i =1 » FHIAIEAERER1- ZHit ?
(A) ﬁ[cos(—%)ﬂsin(—%)]

(B) ﬁ[cos(—%msn(—%)]
3 .. 3«
(C) \/E(COST+ISIHT)

T .. T
(D) ﬁ(cosz+|snz)
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